Z:\Clients\Dunbarton Permanent\B - Texas Dept of Ins\DR-XXX\Drawings\TX-5151.dwg

<) Dinba

rton.

CORPORATION
868 MURRAY ROAD, DOTHAN, AL 36303

"REDIFRAME PD"

HOLLOW METAL FRAME

INSWING /OUTSWING
"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Steel Door Frame system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & R4609 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond walll dressing or stucco.

2. When used in areas requiring wind-borne debris protection, this system is required
to be protected with an impact resistant covering that complies with Section
R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal fo or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET #

DESCRIPTION

Typical elevations, design pressures, & general notes

Door panel details

Door panel details

Elevations & vertical cross sections

Horizontal cross sections

Frame anchoring

N[ A (WIN|—

Bill of materials & components

40" MAX.
FRAME WIDTH

£

o

i

xI

i

X

3 O

=

9 =S

2

MAX. DESIGN PRESSURE (PSF) | DESIGN PRESSURE (PSF)
OVERALL INSWING OUTSWING

DIMENSION POSITIVE | NEGATIVE | POSITIVE | NEGATIVE
40.0" X 98.25" +55.0 -55.0 +55.0 -55.0

Ll
R
£3 )
Jo ¥ o
£3 o b8
S .2 ze
nu Sl ohn
LLD. = TN El.l.
) -
s2 L5 ¢
[e] ZzZ 0. ZzZ
2w 0% 5o
>‘I— EET0 ==
2 J45¢ 0k
g>n fig
Zow ‘5'{7)
5 gR. zo
m o n.E
(O34
3 Z3, 6y
g®e “o
g_ = 0 0O
3 50c¢ E,'-'_-'
o mono 06
0
[/]
5 = gk
E )
3 =
[*]
[a]
P
[T
20
gjz
S
= v
o =4
& (ST
= |H=©
o m
BN
=) 7] %)
2 o
i 353
x| Q0
S olxn
e o
© < o
o o
>_
m
w0
z
O
2]
x
L
<
o
o
z
oaTE: 2/01/21
ScALE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX—5151

sHEET 1 oF 7

© 2021 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Dunbarton Permanent\B - Texas Dept of Ins\DR-XXX\Drawings\TX-5151.dwg

4"
1.13" INTERIOR I<—>— 1.13"
G }
@ WOOD STILE EXTERIOR WOOD LOCK BLOCK WOOD STILE
REINFORCEMENT (4" WIDE X 18.75" LONG) REINFORCEMENT
/"1 \ HORIZONTAL CROSS SECTION
\2/
35.75" MAX.
PANEL WIDTH
|
\ |
’——»— 1.24"
T2
Re)
- N ——|~— 028"
N
. & [~
e
- STILE & RAIL
T - Steel
< el
>
: O o
e - oy e
wn
T 1 =178 ——
N
ﬁ
——t—=—0.028"

|
d

8'-0" STEEL DOOR PANEL
JELD-WEN

40

DOOR SKIN: 0.022" MIN. THK. GALV. STEEL
FOAM CORE: POLYSTYRENE

BOTTOM RAIL
Steel

Ao OONR
SRR uh
RO = R
SaxTIS IS
Sy i
o I m 10t
T 71
Ll (PN
5Ot Py
Guly 129
Y7o 0T
o, igi ¥
2A QS i Z L&
K x> ¢ ?9\0
!11\ g =1 : ~
L

FOAM CORE

EXTERIOR INTERIOR

3
STEEL DOOR SKIN e
S
[\

s
'e2e%e %
lo2e26 26

/" 2"\ VERTICAL CROSS SECTION

\2/

ui
o
53 N
ES g Ll D
£* m g
wu G o7
L = zZ,
NN
L 'h_l_c’
s P05 2o
o Ee® 25
W <92 GG
sSF KEWD SE
2 Jpg©0 Wi
D> M m§
n- < 4
Zow 05
s oM TO
P O N -
m o oW
oxz ,©
o = 0 L
I £my Ob
g2 o
2 2506 2
0 50c¢ EE
& Do 3%
o8
R E
5 9%
E & B8
3 =
o]
o
-
2 [
) <
2| xS
X > ©aQ
3 |3 S
z |5 P
3 |0 =
o o
£ e
()
> o
o 2
o o
>_
m
(2]
=z
o
2]
o
L
<
(]
o
=
DATE: 2/01/21
ScALE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX—5151

SHEET 2 oF 7

© 2021 R.W. BuILDING CONSULTANTS INC.



Z:\Clients\Dunbarton Permanent\B - Texas Dept of Ins\DR-XXX\Drawings\TX-5151.dwg

4"

|<——>— 1.2"

- 175" —|

INTERIOR
IS =§
HINGE REINFORCEMENT EXTERIOR
(12 GA. STEEL)
/"1 "\ HORIZONTAL CROSS SECTION
\3/
35.75" MAX.
PANEL WIDTH
<t
':l—:' wn
O
i
% in
= =
>
o
& == —I
2 °
|

d

8'-0" STEEL DOOR PANEL
Masonite

41

DOOR SKIN: 0.022" MIN. THK. GALV. STEEL (Fy = 34,800 PSI MIN.)
CORE MATERIAL: POLYURETHANE CORE

/

WOOD/LVL LOCK BLOCK
(4" X 22.75" LONG)

I
S .‘,.‘_1‘-.;

TOP RAIL
(18 GA. STEEL) -
~
\ S
FOAM CORE \
AT
/4
EXTERIOR INTERIOR
y/i
// e
STEEL DOOR SKIN e AN
o
-
BOTIOM RAn/ = S—

(18 GA. STEEL)

7“2\ VERTICAL CROSS SECTION

N

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.O. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

DUNBARTON

PART OR ASSEMBLY:

PRODUCT:

DOOR
PANEL DETAILS

BY

NOJ DATE

REVISIONS

paTE: 2/01/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-5151

SHEET 3 oF 7

© 2021 R.W. BuILDING CONSULTANTS INC.



"ON| SLANVLINSNDOJO 9aNIaIing "M'sd LZ20ozg @

ZS8LL—4 # NOILVALSIOFY 40 ILVOI4LLNIO SNOISIAZY :
SY3ANIONI VNOISS3H08d 40 QuVOd SvXal .‘ﬂvm_.ﬂ%%\.,om% %%mw\mm.m A d.va [ON m alzlel = 7_
L6LE'6G9'CLY TON Buoy : & ol
SB6SEE 14 O9HIPA 0SZ xoM .M.u_ \Sv@. 1RIBNESSY 10 T o W - g9 °
*ONI ‘SINVIINSNOD ONIATINg Y L] )F v_A 4_
NOLYVENNA ~ s Ele &
SZLYOL# "I'd Svxal i m ol w &
‘3'd “PIUYDSS ‘4 UOPUA]  :Ag petodeid sjuswnoog :10NA0¥d HEIHEE &
hn\..\ i .-.-. AW\NN
Gl SELEOL NS
5.20MHIS 3 NoansT 2
Rt A el
G* Ea -1
¢ Gy, Y «,\vnl >
--¢wguomv4/n.ou¢ 5 o
..ﬂﬂ._.ﬁ....);.)).)..)..).‘( > m m
o 7 v &9
o) V. O =
& , 6< Z
L 4 ®) O
= =
: L@k
e
(7
(7]
[ 7¢]
o
o
” :
<
: O
: =
oc
: S
(0’4 o <7
O . D)
o v
— 4
= ® Tifn
v
4\/\
("dAL) 'gW3
"NIW .v/e-1
O
9 v r
v. T
. v 2|5
. q OlE
< " o=
q x Qo
e o afs
v T -9 & alz2
5 ’ 2l ol8
< - Qe =
y (. Ol
v =10
< o A m
< m (®)]
. N Ele
v w|z
>\
v <
» \_“ -
v
[a%4
® ¢
[a'4
L
—
() =
mw
[=)
2
5 =
O ﬁu w @
4 N < 7]
~ o< O =2
<< D b
< T 8 =
p >4 2 0
O SIS
O L v
240 Qg
(< X
Ol|= Qe
> 3G &Iz
S alS
mw

BMmp’L§LG-X L\sBUIMBIO\XXX-da\su| $0 3daQ sexa - g\lusuewlad UoHequna\siuai|d\Z



'ON| SINVLIINSNOJ 9NIa7Iing "My LZ20ozg Q

ZS8LL—4 # NOLVALSIORN 40 ILVOIHLLNEO SNOISIATY
SHIINIONI TWNOISSIJ0dd 40 QuVOs SVX3L mzmﬁw‘m%ﬁmwmmo Ad 31vd [ON|~ = |0 7_
N v
L6L6'6G9°CL8 "ON suoyd : N xS 9w
G6SEE 14 O9WPA 0£Z Xog °O'd \Sv@. ‘A1BN3SSY dO Ldvd m W <0 |°
*ONI ‘SLNVLINSNOD ONIaTing X . g | 5_
NOLMYaNNa Nl EEle B
£ZLPOL# "3'd SvX3al Ei w olx|E s
‘J°'d ‘IPIWIYDS 4 uopuikl :Ag pedodeld sjuswinooq 110NAaodd M 3 W m w W.
i
(a4
S)Exd 4y
655 St
O = =
— J

LOCK BOX

& ©

®

/" 2"\ HORIZONTAL CROSS SECTION
\\y Shown w/ Concrete Jamb Anchor

77

EXTERIOR
INTERIOR

//

VIVIVWYTYINI[YTVTY

/"1 "\ HORIZONTAL CROSS SECTION

w Shown w/ Wood Stud Anchor

e ;

BmpL§15-XL\sBuimelg\xxx-ya\suj 4o 1daq sexa - g\iusueuriad uouequn@\siusid\:z



Z:\Clients\Dunbarton Permanent\B - Texas Dept of Ins\DR-XXX\Drawings\TX-5151.dwg

FRAMIE CAJRINER: WOOD STUD FRAMING
KNOCK DOWN TABS (BY OTHERS)
OR FACE WELDED %= —
\ 2E
P | —
JAMBS
CONCRETE (TYP.)
JAMB
ANCHORS —
t y
FRAME/ <= FRAME |
IE
S E
iU
Ko
MASONRY - — J -
OPENING
< CONCRETE
" Slﬁiﬁ%ﬁ%is fﬁt % SILL ANCHORS
6 § - - \l f . i S I
12" MAX. O.C. (TYP.) — (Ts;,') 12" MAX. O.C. (TYP.) .t |
FRAME ANCHORING FRAME ANCHORING
Masonry Construction Wood Stud
Concrete Anchors
CONCRETE ANCHOR NOTES:

2. Concrete anchor table:

T 6'MAX.
(TYP,)

28.5" MAX
~—ocC.(vr) T

7" MAX
(TYP.)

8"

. Concrete screw locations at the comers may be adjusted to maintain a minimum 1" edge distance to

mortar joints. If concrete screw locations noted as "MAX. O.C." must be adjusted fo maintain the minimum
edge distance to mortar joints, additional concrete screws may be required to ensure the maximum on

center dimension is not exceeded.

LDT TAPCON® (ITW BUILDEX)

CONCRETE
ANCHOR TAPCON® (ITW BUILDEX) " ;
SCREW SiLL 18 | JLTRACON+® (DeWALT) 2172 1-3/4
CONCRETE
SLEEVE JAMBS a/g" |DYNABOLT SLEEVE ANCHOR® - 1z
ANCHOR (ITW REDHEAD)

(TYP.)

HINGE JAMB

\\

\\!

7

\
L\
J°°s

Roof

\
W

HINGE DETAIL

aoaas
Ao W

oy
XK =

i,
N F. SCHidip

~
N.
frdp
*
voee

Oy,
S i

\\

R_3

\

/

A\

/

|

@
o

\\
W\

STRIKE DETAIL
Latch & Deadbolt

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

DUNBARTON
FRAME ANCHORING

PART OR ASSEMBLY:

PRODUCT:

BY

NOJ/ DATE

REVISIONS

DATE: 2/01/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-5151

SHEET 6 oF 7

© 2021 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Dunbarton Permanent\B - Texas Dept of Ins\DR-XXX\Drawings\TX-5151.dwg

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

B | 2X STUD FRAMING (G>=0.55) WOOD
C [ 1/4"MAX. SHIM SPACE -

E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI 301 OR HOLLOW BLOCK (GROUT FILLED) CONCRETE

CONFORMING TO ASTM C90

H |1/4"X2-1/4"PFH CONCRETE SCREW (SEE CONCRETE ANCHOR TABLE) STEEL
J [ 3/8" X 5"PFH DYNABOLT SLEEVE ANCHOR (SEE CONCRETE ANCHOR TABLE) STEEL
K |[3/8"X5"FHLAG SCREW (2-1/8" MIN. EMBEDMENT) STEEL
M [ 3/8" X 5"LDT TAPCON CONCRETE SCREW (SEE CONCRETE ANCHOR TABLE) STEEL
1 HOLLOW METAL FRAME STEEL
5 | ADATHRESHOLD ALUM
7 | WEATHERSTRIP =

8 | DOOR SWEEP -

9 | HINGE4'X 4" STEEL
10 | #12-24 X 1/2" FH MACHINE SCREW STEEL
11 [ LATCH STRIKE PLATE STEEL
12 | DEADBOLT STRIKE PLATE STEEL
16 | #8 X 3/4" FH SCREWS STEEL
17 [#12X 1" FH SCREWS STEEL
20 | HINGE REINFORCEMENT (12 GA.) STEEL
30 [ EXPANSION ANCHOR BRACKET(18 GA) STEEL
40 | STEEL DOOR PANEL (7'-0" DOOR JELD-WEN) STEEL
41 [ STEEL DOOR PANEL (7'-0" DOOR MASONITE) STEEL

c’:«f:;\?;:“u;liz ! g
0.5" - o i 2.9 53 o
—— K : b Z-
Bl ( 2~ :Jim cg;-._ﬁsé ’]‘(%u.j gnw aef
) P L {ilis 9} A Y =g e
B - ASE N ik ie 2 \ 0 TR w
Q & [Pwd zi2 oS 55 Bo2 2,
o 9 01T Fol \j|2E Eog 88
Q;{\—/’.‘. ol SN2 N > 5 % © nE
3 ., : ] K 2S5 m 0
* Q & 1 Z 3 0'( IR u.|§
0y 41> FgR0LS Zgn &i
—) L N R I gn. Bo
f [ QRS @ OV g
o O Xz h_n:
o Z 8 o Ol
‘ g 3 66 a.
21" —| ~— 157"~ £ Rdf gk
ne
5.75" £ § 0
: X i
1 HOLLOW METAL FRAME §
16 GA. GALV. STEEL
]
: % S Y
i = & |5 <S
o o % 5 =4
S 1843
2 |88
2 gos
o
[N .. | (-
[ 4 | 8 E
ADA THRESHOLD - =
DLP ISHC E
2.92" s
I———»— 0.75" N
2
o
n
S, 5
/ o
5@ 1.5"
& e
=
i <
o) (]
el
e o
=
|~ 0.04 oaTE: 2,/01/21
= ScALe:  N.T.S.
DWG. BY: RW
30 EXPANSION ANCHOR CHK. BY: LFS
Bracket DRAWING NO.:
T™X—5151

SHEET 7 oF 7

© 2021 R.W. BUILDING CONSULTANTS INC.



